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AFTH AR
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S54TH  ZHHI
AR
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2SRl
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[6 BEFREEIELOHEE] 2 IT 0l Y &,

4,604 4,574

~EEICiT 4574 EME R L HAEN D,
~LEICT4TIOEHE b L AT N D,
~EhR % FLUAE e WA IR, 30 B o ERRE ORI R 03~
~hR e FOA T 72 WA, 40 B D R T ORI R 23~
(&)
5,000 41434115 4,240 4,211 43254299 44134359 . 45104480
o R
RPN
" AR

RlO

WEHT EELE
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4,819 4,779
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<HEFHEERORLSL >

A
A

UNES

WA EEEHIE 8,259 M/H (X) 743t HIA
EnEEERE 8,243 FH/H (%) 2743 EHA

A
A

wigAs (%1) 7,982 M/H
BUfHIC X 25082 FOAE e niga (¢1) 7,981 H/H

M M

HETAES < 7,929 FI/H (¥ 1),
THTATERC 7,914 F/H (% 2).

Nd,
s

o

(%2) 8313M/H
(%¥2) 8311 H/H

(S : EF)

]./'\E}T":":JJ{%@HG'}
STEE | STTEE | STEE | STEE |STUEE |4HUEE it
(5
=fE 4,113 4,211 4,299 4, 389 4, 480 4,574
(4,143) (4, 2400 (4, 328) (4, 418) (4, 5100 (4, B04)
HEHEE 780 764 762 765 773 785 7,920/
(785) (770) (788) (771) (778) (791) (7, 982M)
EHaREER 1,933 2,026 2,101 2,172 2, 237 2, 298 8, 2590
(1,046) (2,040) (2,115) (2, 186) (2, 252) (2, 313) (8, 313H)
EREEES 1,402 1,421 1,436 1, 452 1, 470 1, 461
(1,412) (1,430) (1,445) (1,481) (1, 480) (1, 500)
< HEHMEZREDRAZ > (Efr - FM)
LB~ ) RERD
STREE | SFITEE | STsEE | STooEE | STil0EE | STuEE presiotates
(€3
= 4, 300 4,400 4,492 4, 536 4,681 4,778
(4, 336) (4,438) (4, 530) (4, 628) (4,721) (4, 819)
AT HER 815 799 797 800 821 7,914/
(822) (806) (303) (807) (828) (7, 981[)
EHEREES 2,020 2,117 2,195 2, 269 2, 400 8, 2430
(2,037) (2,138) (2, 214) (2,288 (2, 421) (g, 311[)
EHERES 1, 465 1,484 1, 500 1,517
(1,477) (1,497) (1, 513) (1, 530)
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